7) through{ (5, 2) nd (-2, 4) 8) throughs (3,-2) Fmd (0,2) ="
- QA’ _ Z.""| 5 -f__ -2
sie 0N M= 5+2 7 M= 3-0 ~ 3

“

B YT () ?/s)vﬂ—-“%'(x—s}

Algebra 1

ADD To NoOTES  ame ID: 1
5.3 Practice A (introduction Pomt )ﬁ };,e equatlon) %) Date__Dec, 2023 Period

m (x-
Write the(pomt-slope equation pf the line through the given point with the given slope.

P

1) through: (2, 3), slope—é 2) through: (-4, ~2) slope-i

Asy | ¥-3= 2 (x- )| Plss |[VYaa- -3 ( X*‘*\W

"‘ 4\

x/
z’\through ~3, 2}/ slope = —% +

meatel S — Yo(2) = 1—_!’4%"(

?ls \\Y.—g: e (x+5)

From the point slope equation identify the slope (m=) and peoint (_, ).

Pls v 7 b e
4)\;/+3——2—(x+2 5) y—2=—%(x—5)
s e
?*(”Z)‘Sw ‘7-1:(5')2.3

6) y+3—-i(x 5

~is
P_\._(S <3 )

Write the boint-slope form of the equation\of the line through the given points (use 1st point for
your point-slope equation).




Use the point-slope equation to graph the line; then look at the graph to write the

slope-infercept equation AND state the slope and yintercept (with the correct variable names)

?ls T

9 y+l———x+4

11)

/"‘"/2.

Tt C-4)-1)

8¢y

b
\

\

\
Y|

wY

N

. -2
10y pesas2rsy W
i pt (-5 ,3)
12) ,
- N
%) 1]
"
\\;\ \
& | 46| 4 —2— ] Ng.\ \x
4=
SI1ZQ \)’: )(—\'\ \
M= ~%/s
b=\
14) y—4=-={x+3) a2
3
P“'(“"Ss"ﬂ
16) . /
8//
|— =} '/l
, T g=2
g TS >
: N
. E—




Algebra 1 ?lﬁ : Y—%\ = M ()(—x\\ Name ID: 1

. N :
5.3 Practice B (point-slope to slope-intercept eq) Date Period
Write the|slope-intercept form Jof the equation of the line through the given point with the given
slope.
1) through —2 slope._—<§\ 2) through: (5, 3) slope = —l
pls Yrz="¢g (x+s s Y-3= -k (x - 5)
e \’*'z“ Ts"X =8
\9*\4' \\/ = = \8 .Z 5 X +\
-3, _¢E
slT \%_ N b\

/

3) through: (4, -2), slope=—l SII l’E—"&"X 2 Fll 41
Pls yta= —-(x-q)
4+9="JaxAT,

/T E&/X*‘ \

Write the\slope intercept form of the equatE of the line through the given points.

4) through: (4, 2) and (-2, -1) 5) through: (-2, —3) and (-4, 1)

*\ :
ref 2 M= :—?57—_— siefl -3-0 ot
L Y+ / M = ’_Z_tl.t Z

SN
_z ’z.'

L

£ 4 \3_%/‘*3

6) through: (0, —3) and (3, 1)

-’a*\ =
s1eet M = =

5(/2?’7—_' (0,-3) 15 H ta\\l\'\ (b)

4=3%> |







\)ersfm\' ID: 2
5.3 Practice {§ (H& VLines) ABBREVIATED Dt

(1) Find the slope of the line through each pair of points; (2) then state if the line is horizontal,
vertical, or neither.

Algebra 1 Name

N

Period

1) (20,9), (-16,9) 2) (18,2), (18, 5)
m= _tj_ ” 0___ M = 2-% - ‘__03___.
20tle ~ 542) 18-18
\kW\: ¢ \"‘? LLYRV R rm= UNDEFINEC —> VL\NE
3) skip 4) skip

Find the slope of each line. Label with the correct variable notaion.

; J2odmMe
5) . Verticel Line 6) | / Ho 520
1] v \__\I"é-
5 oeqQ VLWt g W74 Sl
a1 EQ WL'WE
X= -
<€ e *‘Af << 3 - 5
x ™ X " %\PK
" Sl
3 \L“___L/ \ | M= °
7) skip 8) skip
Write the equation of each line.
9 . 10) i
= = Z
Z ){ = \é, |
QO Pt ] P o %4 B 0 T i x = - S
=3 — ’—-"‘——/
Y Y

Graph each line:
11) x=4 12) y=-3
y N\ Ay
S S ; ¥ EEEEED R
» - R
= 3 7







Algebra 1 4P....

Date:

B Graph Linear Equations in Standard Form

VOCABULARY:
« Slope-intercept form (S/l) \/ =mXxD m=slope b= %DJT 0, b)

¢ Point-Slope form (P/S) Y“é\ =M (X —X \3 m=jlo_pc point (_ X, , ¥4__)
e Standard form | AX + &Y = C

¢« WhereA,B,Care _TNTEGERS (L)c) Feactions/Decimels)
4 7

e What would be the easiest method to graph an equation in Standard form ?

USe the ‘mkrc:e{a-% methed o
Greph.,

SN Graph an equation using{Standard Form)
a) Graph: 3x—6y =24

—

AaT X2 g (Z0)

M‘. y =Y (O/:‘—'l-)

b) Rewrite the equation in slope-intercept form. —) \.g: MX+b

3y — 6y = 24&”
= -3X

“hy=-3xt2t
o -l —G

TR T }
)S/I: U =72 X - L‘ <&—— Does this equation match the graph?
d | )’eb “He sloee-(— /?4 fercept
/
e Fa M ctch )

Conclosiond : oy Ly =24
%:'{"x-“‘

Dcscrtloe Hha >x>me line



Re,\l\ev\\ G('=\0|'\;f\<\ Lines

e connnaunaall @)

To Fd SLoPE

: - Risg
V) G oo h o— M=
O — %FCQ % R'J’ ~J
xm >m UNDeFineED Mz0

@ & \
ehilees Z?cm‘('s - m—:ﬂ _-:Yz,"\/\
Ax X?_"'X\

Am 2 THwa0Os  To  Gepapy LINES

@ Techo\e Metnol ‘@ Trtee ceptMinwn| B SLOPE INTERCEPT
5 /(oc\\ METHo B
25/_\"\’/\’- Y=mx+b
;CY« 3 Ek>.‘ X _
*?JAL.QS,S Fot X m—slogc
b= g?MTEe.cEPT

k ()g,o)

3 Foems 1o wWe\TE LN EAR EQUATIONS

/

@ SL.OPE"INT?EQ—CE-PT (?ﬁ[) — lé:mx_\.\)
@ Powt-Swere (Bls) —> Yoy, = m (X%

UJ\-\e.rc m = S\c)ee- Gilen Fo\n‘* (XIIYI)

@ SsTaDAZN Foem —> A x +8Y = C
p 6, C orcin \tsers




